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Is 42 prime?
[s 51 prime?
[s 7 prime?

Is 69 prime?
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Identify prime numbers #7

Is 20 prime?
[s 84 prime?
Is 10 prime?

[s 13 prime?
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[s 47 prime? 25) Is 75 prime?
[s 8 prime? 26) Is 65 prime?
[s 28 prime? 27) Is 5 prime?
[s 12 prime? 28) Is 56 prime?
[s 54 prime? 29) Is 9 prime?
[s 31 prime? 30) Is 71 prime?
[s 55 prime? 31) Is 73 prime?
[s 16 prime? 32) Is 29 prime?
[s 81 prime? 33) Is 74 prime?
[s 6 prime? 34) Is 72 prime?
[s 18 prime? 35) Is 38 prime?
Is 19 prime? 36) Is 70 prime?
[s 40 prime? 37) Is 88 prime?
[s 24 prime? 38) Is 14 prime?
[s 82 prime? 39) Is 25 prime?
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[s 48 prime? 40) Is 92 prime?
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Identify prime numbers #7 (Solutions)

42 is not prime.
51 is not prime,.
7 is prime.

69 is not prime.
47 is prime.

8 is not prime.
28 is not prime.
12 is not prime.
54 is not prime.
31 is prime.

55 is not prime.
16 is not prime.
81 is not prime.
6 is not prime.
18 is not prime.
19 is prime.

40 is not prime.
24 is not prime.
82 1s not prime,.

48 is not prime.
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20 i1s not prime,
84 is not prime.
10 is not prime.
13 is prime.

75 is not prime.
65 is not prime.
5 is prime.

56 is not prime.
9 is not prime.
71 is prime.

73 is prime.

29 is prime.

74 is not prime.
72 is not prime.
38 is not prime.
70 is not prime.
88 is not prime.
14 is not prime.
25 is not prime,.

92 is not prime.



